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Case study 

Tina and Nita went to Mumbai by car. On the way Tina saw 27 buses, 24 bikes and 34 

cars. Nita saw 11 cars , 55 bikes and 33 buses. 

Tick the correct option. 

1) How many buses did Tina and Nita see ? 

a) 40  b) 60  c) 30  d) 70 

2) How many types of vehicles did Tina see ? 

a) (4+1)  b) (3+1)  c) (2+1)  d) (1+1) 

3) Tina saw ___ more cars than Nita. 

a) 20  b) 22  c) 23  d) 27 

4) Rearrange the vehicles in ascending order seen by Nita. 

a) cars, buses, bikes. 

b) buses , bikes, cars. 

c) cars, bikes, buses. 

d) bikes, buses, cars. 

5) Tina saw __  less bikes than Nita. 

a) 21  b) 24  c) 33  d) 31 


